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using
using
using
using
using
using
using
using

Microsoft.VisualStudio.TestTools.UnitTesting;
A9;

System;

System.Collections.Generic;

System.Ling;

System.Text;

System.Threading.Tasks;

TestCommon;

namespace A9.Tests

{

[DeploymentItem("TestData", "A9_TestData")]
[TestClass()]
public class GradedTests

{

[TestMethod (), Timeout(200)]

public void SolveTest_QlInferEnergyValues()

{
//Assert.Inconclusive("49.Q1 Not Solwed");
RunTest (new QlInferEnergyValues("TD1"));

}

[TestMethod (), Timeout(200)]

public void SolveTest_Q20ptimalDiet ()

{
//Assert.Inconclusive("49.Q2 Not Solwed");
RunTest (new Q20ptimalDiet("TD2"));

}

[TestMethod (), Timeout(200)]
public void SolveTest_Q30nlineAdAllocation()

{
//Assert.Inconclusive("49.Q3 Not Solwed");
RunTest (new Q30nlineAdAllocation("TD3"));
}
public static void RunTest(Processor p)
{

TestTools.RunLocalTest("A9", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);

}



Vosiile ol ge 6551 Ol

S 313l b) sy S (g 520 (gns oS5 21383050 (53,30 3l 5m 03231 Sy (5t s 2l 5 Lok
425 50 g3luesly |5 Elimination Gaussian w81 (018 2 ()8 0lsme 5 st LS5 150

Ol 3 (535 5 sias JS25 550 o] 32 a6l o 55 S asls Szl s 1y olysns S S Lj‘:’
sy90 $aE (G Ol s gl 1) sk LSCi5 slse 68 Gl b i hals jaxin e ol
) Sy 39 B

9 (Gl 50 55 slalis shaws Ll sk LSLis 5l g slass) s o balie slaws Jol L> 55 163559 Cw B
MEjr\idnbo\jtnai(h&Jm) \L\:'«de\xé.\:ﬁsocﬁé\ﬁﬁ\)al,...,anjEL;AagJojL}J;
il g Jgagh o0 28U 0 QT)\..\}.» a5 sz ssla) glie 5s glab Sl e ol LS8l
S o gt polie gl b L2 oS S il

)f\ ASC;J_?J C)ﬁ‘ © ..\:.‘.5..&3) I 39> (53 eSS LgJJ\SoJ.;MJ:i.fJ ;\}A}\ r‘.&SJ.m 6‘)? Ly Coad
£l b)Li..c\) 1S Wy Vb @ osg sl S IO L g il Ll sy 7S /Y0 ) Ls il
o2l é 0o (.\:;SrSOTﬂ sae G gl b s 5 BLAI Ol wsae SO Ol g3 St e s g
s 18 /0] Jliel Oy s

) oy

3 il Al o 00 5T 03,5 055 Sl i)

Infer Energy Values of Ingredients’



> > < v o € -t —< =

L god (6393 L god (9 >
4 1543
10001
01005
001014
00013
@ ged (6399 L g (9>
2 21
113
237
L 500 (8939 L g0 (97>
5 0 0.5
5 -5 -1
1 -2 -1

ol sa 05y /O g v Sesg /Y 5 /FL Ll 5y Olgx SuiS s

using System;
using TestCommon;

namespace A9

{
public class QlInferEnergyValues : Processor
{
public QlInferEnergyValues(string testDataName) : base(testDataName)
{
}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, double[,], double[]>)Solve);
public double[] Solve(long MATRIX_SIZE, double[,] matrix)
{
// Comment the line below and write your code here
throw new NotImplementedException();
}
}
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using System;
using TestCommon;

namespace A9

{
public class Q20ptimalDiet : Processor
{
public Q20ptimalDiet(string testDataName) : base(testDataName)
{
}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<int, int, double[,], String>)Solve);
public string Solve(int N, int M, double[,] matrixl)
{
// Comment the line below and write your code here
throw new NotImplementedException();
}
3
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using System;
using TestCommon;
namespace A9
{
public class Q30nlineAdAllocation : Processor
{
public Q30nlineAdAllocation(string testDataName) : base(testDataName)
{
}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<int, int, double[,], String>)Solve);
public string Solve(int c, int v, double[,] matrixl)
{
// Comment the line below and write your code here
throw new NotImplementedException();
}
}
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